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SHEZ1,7023]1,3486] 792| - - - | 1962| 1675 853 4622 3992 86.4
=4 1378813150 954, - - - - - - 389.1| 425.9| 109.5
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o2 J|E FEH(m/s)
o ST zo 27
27| B 2H7] BIH7] B
FEs dstzim) 49.3 43.0 39.4 34.4 24.6 21.5 14.8 12.9
bR es moim) 116.6 96.7 95.5 81.7 80.0 66.7 55.0 55.0
AT ML, "™ m) 2.6 2.2 2.1 1.7 1.3 1.1 0.8 0.7
SHY |dF("oim, g8m) 0.5 0.4 04 0.3 0.2 0.2 0.1 0.1
M (EHY, 220) 1.5 14 1.2 1.1 0.6 0.6 0.3 0.3
Ozl " Ecim) 14.3 7.9 114 6..3 7.1 3.9 4.3 2.4
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Uoke=g Atztzim) 73.0 71.0 58.0 57.0 34.0 320 20.0 19.0
SMER, olgim) 11.0 11.0 8.8 8.8 6.2 6.2 4.3 4.3
ST (=R, 220 492 30.0 39.4 24.0 16.2 151 114 10.6
— 2oj(=r, wxm) 50.5 34.0 40.3 27.5 17.8 175 12.5 12.3
= ™M@, a7 75 7.5 6.0 6.0 3.8 3.8 2.3 2.3
ME(o|sx, gatm) 10.5 10.5 8.5 8.5 53 53 3.2 3.9
OfrH=mA, shyctal) 24 2.4 1.9 1.9 1.2 1.2 0.7 0.7
of AFZt A (=8, Zatm) 12.5 8.5 10.0 7.0 55 55 4.0 4.0
LI =R, cigm) 22.5 14.5 16.5 12.0 10.5 10.0 8.0 8.0
2MEs 220 55 4.5 3.5 3.0 2.0 1.5 1.0 0.8
MAZFHE=s oam) 9.5 8.5 75 6.5 50 4.5 35 3.5
TeH(=28, a™al) 21.0 17.0 15.0 13.5 85 8.0 55 55
oFAE #A7] R wlAANT] 7%
N RIS EEEL
A 2717 MESTE]
stz 04.01.~09.30. 01.01.~03.31., 10.01.~12.31.
oA 04.15.~10.15. 01.01.~04.14., 10.16.~12.31.
= 05.01.~09.30. 01.01.~04.30., 10.01.~12.31.
A MY 05.01.~09.30. 01.01.~04.30., 10.01.~12.31.
« AUNY STEM A e stdof w2t AHES FES AeZE [sHd]2 otMdA, [Hsd]2 At -Efsta
[BZ]e ttuA, [Fad]e ordd, s3Y, MY 2 EXY 95 2o



